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QUESTION 1

Your network is configured with dynamic ARP inspection (DAI) using the default parameters for all the DHCP and ARP
related configurations. You just added a new device connected to a trunk port and configured it to obtain an IP address
using DHCP.

Which two statements are correct in this scenario? (Choose two.)

A. The DHCP server assigns the IP addressing information to the new device.

B. DAI validates the ARP packets for the new device against the DHCP snooping database.

C. The ARP request and response packets for the new device will bypass DAI.

D. DHCP snooping adds the DHCP assigned IP address for the new device to its database.

Correct Answer: AB

QUESTION 2

What are two methods for reducing the size of an OSPF link-state database? (Choose two.)
A. Use unique router IDs where possible.

B. Use identical link metrics where possible.

C. Use point-to-point interface types where possible.

D. Use stub areas where possible.

Correct Answer: CD

QUESTION 3

Which two OSPF header fields must match to form an adjacency over a broadcast connection? (Choose two.)
A. router priority

B. options

C. hello interval

D. neighbor

Correct Answer: BC

QUESTION 4

Which statement is true about IP-IP tunnels?
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A. The time-to-live value of the original packet is decremented.

B. IP-IP tunnels are protocol agnostic.

C. The packet is encapsulated unchanged before entering the tunnel.
D. The packet header is replaced before entering the tunnel.

Correct Answer: B

QUESTION 5

Which two statements describe BGP attributes? (Choose two.)

A. BGP attributes help determine the best path to a destination.

B. The origin attribute indicates the autonomous systems through which the route has traversed.
C. BGP attributes are always optional.

D. The AS path attribute indicates the autonomous systems through which the route has traversed.

Correct Answer: AD
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